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This corresponds exactly
with the definition of
“Light” work.  20 C.F.R.
§404.1567(b)

EROSION OF THE OCCUPATIONAL BASE

THE LAND BETWEEN TWO CONFLICTING
GRID RULES AT THE FIFTH STEP OF THE

SEQUENTIAL EVALUATION

As noted in the Introduction to Social Security Materials, the Grid Rules more often than
not do not help.  But you also learned that the Grid Rules do not have a DIRECT and EXACT
applicability if any of the four statutory factors (age, education, skills and Residual Functional
Capacity or “RFC”) don’t precisely match the exact parameters of the Grid Rule that the ALJ
would try to employ.

Example: 

! AGE: Joe is 52 at time of onset of disability and 54 now;

! EDUCATION: Joe has a High School diploma or GED;

! WORK: Joe has worked in the past as a Construction Laborer
This is considered to be a job that requires walking and
standing all day with lifting of 50# Frequently (2/3 of 
the day) and 100# Occasionally (1/3 of the day).  It is
unskilled;

! RFC: The ALJ might seem to believe that Joe can:

• Walk and Stand a total of 8 hours a day; 
• Sit 6 - 8 hours a day total;
• Lift 20# Occasionally;
• Lift 10# Frequently.

If that’s all the ALJ thinks Joe’s limits are, then the ALJ is entitled to rely upon the
Administrative Notice of the LIGHT GRID TABLE that assumes the individual is limited to
LIGHT work.  Grid Rule 202.13 would direct that Joe is Not Disabled (Introductory Materials,
p. 28).  How do you get out of that?

RARELY are an individual’s problems manifested only in limitations in
Sitting, Standing, Walking and Lifting.  ALMOST ALWAYS, the problems manifest themselves

in other, ADDITIONAL ways.  Since the “RFC” for any Grid Rule is only
defined by those four factors, if there are other limitations at play, the Grid Rule does not apply. 



1The Sedentary Grid Table takes Administrative Notice that Joe can still do 200 Sedentary Occupations.  If
that’s the case, why does he win?  The difference in the outcome of Rule 201.12 reflects the impact that Joe’s age
has on that Occupational Base.  The Commissioner is taking Administrative Notice that Joe’s age would prevent him
from adjusting to those other Occupations.

Abbott v. Sullivan, 905 F.2d 918, 926 (6th Cir. 1990).

The Light RFC Grid (including Grid Rule 202.13), as a whole, reflects Administrative Notice
that there are 1,400 Light Unskilled Occupations.  Social Security Ruling 83-10.  Those 1,400
Occupations are referred to as the Light OCCUPATIONAL BASE.

What if Joe could only: 

• Walk and Stand a total of 2 hours a day; 
• Sit 6 - 8 hours a day total;
• Lift 10# Occasionally;
• Lift less than 10# Frequently.

Those limitations correspond exactly with the definition of “Sedentary” work.  20 C.F.R.
§404.1567(a).  If that were the case, the ALJ would then rely upon the SEDENTARY GRID
TABLE.  Joe’s age, education and unskilled work history would then require the use of Grid
Rule 201.12 (Introductory Materials, p. 26). That Rule directs a finding of “DISABLED”. 

The SEDENTARY GRID TABLE (including Grid Rule 201.12), as a whole, reflects
Administrative Notice that there are 200 Sedentary Unskilled Occupations.1  Social Security
Ruling 83-10.   Those 200 Occupations are referred to as the Sedentary OCCUPATIONAL
BASE.

YOU CANNOT CONVINCE THE ALJ THAT JOE IS MORE LIMITED TO
SEDENTARY WORK.  That will NEVER HAPPEN.

WHAT YOU CAN do is convince the ALJ that Joe’s medical problems result in
ADDITIONAL limitations besides only Walking, Standing, Sitting and Lifting.  Those
additional limitations (NON-EXERTIONAL LIMITATIONS) further restrict the LIGHT
OCCUPATIONAL BASE of 1,400 occupations.  The question is, HOW MUCH?  You may be
able to convince the ALJ that the additional non-exertional limitations pare down the Light
Occupational Base to something that looks a whole lot like the Sedentary Occupational Base. 

Given Joe’s age, he wins even if he can still do 200 Occupations.  He loses if he can do
1,600 Occupations (remember, the Light RFC also includes the ability to do Sedentary
occupations, too).  On the GRID TABLES, it looks like this:

RFC                        Age         Education    Work Experience     Result    
LIGHT   (1,600)         50 - 54    High School Unskilled          Not Disabled
SEDENTARY (200) 50 - 54    High School Unskilled          Disabled



BUT THINK OF IT THIS WAY.  Joe can’t do ALL of the things composing LIGHT work.  His
Occupational Base is somewhere in between that of the ability to do all 1,600 Light and
Sedentary occupations and the Occupational Base for just being able to do the 200 Sedentary
occupations.   What if the additional things resulted in an Occupational Base that looked at lot
more like Grid Rule 201.12 than Grid Rule 202.13?  Shouldn’t he be treated more like the person
who absolutely fits Grid Rule 201.12?

RFC = FULL
SEDENTARY

REMAINING
OCCUPATIONAL BASE
IS 200 OCCUPATIONS.

GRID RULE 201.12
DIRECTS A FINDING

OF “DISABLED”

         200 Occupations

  200 OCCUPATIONS

BECAUSE OF
ADDITIONAL NON-

EXERTIONAL
LIMITATIONS JOE’S

RESIDUAL
FUNCTIONAL

CAPACITY IS LESS
THAN LIGHT AND

MORE THAN
SEDENTARY.  SO IS HIS
OCCUPATIONAL BASE

IS SOMEWHERE IN
BETWEEN

• Due to back problems,
must alternate between
sitting and standing every
20 minutes and cannot
stand/walk more than 4
hours in a day.

• Due to Carpal Tunnel
Syndrome, must not type
or use hand tools at all. 

• Due to Carpal Tunnel
Syndrome, must not
“Handle” (grasp) large
objects more than
occasionally (1/3 of day)

JOE’S OCCUPATIONAL
BASE IS MORE LIKE
RULE 201.12 THAN
202.13.  HE IS
“DISABLED” UNDER
THE “FRAMEWORK”
OF RULE 201.12.  Social
Security Ruling 

RFC = FULL LIGHT

REMAINING
OCCUPATIONAL BASE

IS 1,600 LIGHT AND
SEDENTARY

OCCUPATIONS

GRID RULE 202.13
DIRECTS A FINDING
OF “NOT DISABLED”

1,600 Occupations

Eliminates 30% of Light
Occupations (420

Occupations) -

 Remaining Base = 980

Eliminates 20% of Light
Occupations (280 Occs)
and 60% of Sedentary
Occupations (120 Occs)

 Remaining Base = 580

Eliminates 20% of Light
Occupations not already
eliminated (280 Occs). 
Does not eliminate any
Sedentary

Remaining Base = 300

  300 OCCUPATIONS



This analysis is explained in Social Security Ruling 83-12:

If the exertional level falls between two rules which direct opposite conclusions,
i.e., "Not disabled" at the higher exertional level and "Disabled" at the lower
exertional level, consider as follows:

a. An exertional capacity that is only slightly reduced in terms of the regulatory
criteria could indicate a sufficient remaining occupational base to satisfy the
minimal requirements for a finding of "Not disabled."

b. On the other hand, if the exertional capacity is significantly reduced in terms of
the regularity definition, it could indicate little more than the occupational base
for the lower rule and could justify finding of "Disabled."

THOUGHTS TO KEEP IN MIND:

•  most unskilled sedentary jobs require good use of both hands.  Social Security Ruling
83-12

•  There are some jobs in the national economy -- typically professional and managerial
ones -- in which a person can sit or stand with a degree of choice. If an individual had
such a job and is still capable of performing it, or is capable of transferring work skills to
such jobs, he or she would not be found disabled. However, must jobs have ongoing
work processes which demand that a worker be in a certain place or posture for at least a
certain length of time to accomplish a certain task. Unskilled types of jobs are
particularly structured so that a person cannot ordinarily sit or stand at will.  Social
Security Ruling 83-12.

• Stooping, kneeling, crouching, and crawlingare progressively more strenuous forms of
bending parts of the body, with crawling as a form of locomotion involving bending.
Some stooping (bending the body downward and forward by bending the spine at the
waist) is required to do almost any kind of work,, particularly when objects below the
waist are involved. If a person can stoop occasionally (from very little up to one-third of
the time) in order to lift objects, the sedentary and light occupational base is virtually
intact. However, because of the lifting require for most medium, heavy, and very heavy
jobs, a person must be able to stoop frequently (from one-third to two-thirds of the time);
inability to do so would substantially affect the more strenuous portion of the
occupational base. This is also true for crouching (bending the body downward and
forward by bending both the legs and spine).  Social Security Ruling 85-15.

•  Consequently, to perform the full range of medium work as defined, a person must be
able to do both frequent stooping and frequent crouching -- bending both the back and
the legs.  Social Security Ruling 83-14

• Reaching, handling, fingering, and feeling require progressively finer usage of the
upper extremities to perform work-related activities. Reaching (extending the hands and
arms in any direction) and handling (seizing, holding, grasping, turning or otherwise



working primarily with the whole hand or hands) are activities required in almost all
jobs. Significant limitations of reaching or handling, therefore, may eliminate a large
number of occupations a person could otherwise do..."Fingering" involves picking,
pinching, or otherwise working primarily with the fingers. It is needed to perform most
unskilled sedentary jobs and to perform certain skilled and semiskilled jobs at all levels
of exertion. As a general rule, limitations of fine manual dexterity have greater
adjudicative significance — in terms of relative number of jobs in which the function is
required — as the person's exertional RFC decreases. Thus, loss of fine manual dexterity
narrows the sedentary and light ranges of work much more than it does the medium,
heavy, and very heavy ranges of work.  Social Security Ruling 85-15.






















